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Previously....

* With Hall A laser obtained position differences and charge
asymmetries comparable to PREX BEFORE cathode rotation + PC
translation

* Required photocathode rotation and subsequent PC translation to
reduce position differences to PREX level

* Due to ‘after pulse’ (the origin of which we’d very much like to
understand), HallC laser is now being used for Hall A beam

* CONFUSING this happening with HallC laser



* Present in Hall even with PC off
* For RHWP 0Odeg -18,000ppm
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Autogaining on some bpms off?

HallClaserOct17 2pm_Run2346_IHWPout_  RHWPOdeg 20uAinHall PConpresumably bpm
Ol0lautogainingnotonperhaps

diff_bpm0Il01x:m_ev_num {m_ev_num>10} vgwk0_0/vgqwk0_0_nsamp:ev_num {ev_num>10}
'>_< Q
S C 5 -
e C %0000 —
C 0000 1=
%2000_ o =
= = g -
© C F0000 —
1000 — 3 =
C < :_
- @ ’ $0000 [— IHWP=0, Runs 2346, m_ev_num>10&&avg_bcm2>8500
& g
o ¥ * -
c - g F
- 30000 [— S oEmm
- L < E
1000 — C -5000 —
- 20000 [— E -
C - -10000 =
-2000 — - E
C 10000 [— 15000 -
C C - - - E ]
-3000 [— - 20000 — "EE g n
PR TR T TR [N TR T TR TN N TR S SN SN NN SN SO SN SN AN SN SRR TR TR (NN TR S S T | 0 PR PR AT TR T T NN SN TN TR T T SN SN TR TR N TN SN SO S (Y T = u
0 5000 10000 15000 20000 25000 30000 0 5000 10000 15000 20000 25000 30000 25000 F— = =
m_ev_num ev_num E . L]
-30000 — L] "B
= u
bpm0I01ws:ev_num {ev_num>10} bcm2:ev_num {ev_num>10} 35000 F—
107 E u
2 H 40000 - -
Z ogp - §°°00— - Er 11 L TN T T S N T R B B
s F A o S rintumd s Ry e e Ty Ty N T T
g F = ;
L 8000 —
200 [— -
= 6000 | —
150 {— - -
n 4000 — :
100— N )
C 2000 — )
50— N '
- I i
- — - - 0f— — - -
ol v v v b Ly L Ly Ly L I T B R S B B
0 5000 10000 15000 20000 25000 30000 0 5000 10000 15000 20000 25000 30000
ev num ev num

* bpmOIO1A and bpmOIO1 showed behavior of autogaining being off.



Bom4a in hall still has 30mV jumps in X+ - X-
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* Despite Pete Francis replacing modules, problem persists in beam, did not see with twiddle



New Halla bpm cavities: some show sig
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* Need a signal for bpm4b & bpm4c

itudes of signals tweaked on bpm4d
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Calibration Runs show no further saturation

X BCM linear fits
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» When there were MCC phase/MO issues, digital bcms showed DC amplitude shifts
(not RMS->DC converter like the analog), now that no phase issues, no DC shifts



Ca||brat|on Runs show no further saturation

X' BCm residuals linear fits
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Analog didn’t see DC shifts when digital did
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Analog didn’t see DC shifts when digital did
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After master phase issues ID’s and fixed— no shifts

* Analog UBCM
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* Currentis jumping
e Receivers are not
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PC maybe off (oct 17 4-4:30pm)
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